



$${}_{2\mathbb{R}_n}^n \mathbb{C} \cong \frac{a \mid b}{c \mid d}$$

$${}_{\times\mathbb{R}_n}^n \mathbb{C} \cong \frac{a \mid 0}{0 \mid d}$$

$$\frac{a \mid b}{c \mid d} = \mathcal{F} \frac{a \mid b}{c \mid d} \mathcal{F} = \frac{a \mid -b}{-c \mid d} \Leftrightarrow \begin{cases} b = 0 \\ c = 0 \end{cases}$$

$${}_{\mathbb{R}}^n \mathbb{C}^C \cong \frac{a \mid b}{-b \mid a}$$

$$\frac{a \mid b}{c \mid d} = \mathcal{J} \frac{a \mid b}{c \mid d} \mathcal{J}^{-1} = \frac{d \mid -c}{-b \mid a} \Leftrightarrow \begin{cases} a = d \\ b = -c \end{cases}$$

$${}_{= \mathbb{R}_n}^n \mathbb{C} \cong \frac{a \mid 0}{0 \mid a}$$

$$\frac{a \mid 0}{0 \mid d} = J \frac{a \mid 0}{0 \mid d} J = \frac{d \mid 0}{0 \mid a} \Leftrightarrow a = d$$

$$\frac{a \mid b}{-b \mid a} = J \frac{a \mid b}{-b \mid a} J = \frac{a \mid -b}{b \mid a} \Leftrightarrow b = 0$$

$$Jz = -zJ \Leftrightarrow z = \frac{a \mid b}{-b \mid -a}$$

$$\frac{a \mid 0}{0 \mid -a} \in {}^n\mathbb{R}_n^{\mathbb{C}} \longrightarrow \begin{array}{c} {}^n\mathbb{C}_n^{\mathbb{C}} \\ \underline{{}^n\mathbb{R}_n^{\mathbb{C}}} \end{array}$$

$${}^n\mathbb{R}_n^{\mathbb{C}} \longrightarrow {}^n\mathbb{R}_n^{\mathbb{C}} \cong \overbrace{J - z}^{-1} \underbrace{J + z}$$

$$\frac{0 \mid b}{-b \mid 0} \in {}^n\mathbb{R}_n^{\mathbb{C}} \longrightarrow \begin{array}{c} {}^n\mathbb{R}_n^{\mathbb{C}} \\ \underline{{}^n\mathbb{R}_n^{\mathbb{C}}} \end{array}$$